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—— Ma

Br
Bo
Ca

Ma
Co
Ri
Rw
Si

Br
Bo
Ca
Ri
98
Rw
Co
L s
T=95 Af
P=8
L=16
64
=— 0.5 aa changes
RvhB4a
1]
100
97
T =805
98
P=72 —
L=121
5] 1oL
56

Strict consensus (4)

Af

rvhB3
Br
Bo
Ca
55 _ _
98
Co
K81uf + G Ri
AIC L si
732.29574
Af
— Ma
Rw
= 0.01 substitutions/site
rvhB4a
Br
Bo
— Ca
100 100
99. |
a3|r
59 Ma
100-_f | Ri
GTR+ G 100
hLRT Rw
6624.79866 100} co
98 | Si
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Af

= 0.01 substitutions/site
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100 —_—
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P=195 — .
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87 e
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100 —
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Bo
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Si
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Af
= 0.01 substitutions/site
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Bo
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100
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L
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AlC Rw
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Si
53 Af

— 0.05 substitutions/site
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Ma
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P =196 - e RwW
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100 Af
Strict consensus (6)
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Bo
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100 100
92
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96| Si
99 A¢

50 aa changes

rvhB6b
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Bo
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T
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100 00
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100.\ Ri
100
TVM + G ‘Rw
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7277.33030
56f Si
89 Af
— (.05 substitutions/site
rvhB6¢c
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62 _
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— (.05 substitutions/site
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P =263 100 Co
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Strict consensus (2)
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Bo
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96
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e [
100 Rw

Strict consensus (5)
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100 || =i
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99} Si
83| Af
= 0.01 substitutions/site
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= 0.01 substitutions/site
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= 0.01 substitutions/site
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= 0.01 substitutions/site
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-— 0.05 substitutions/site
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mﬂ

= 0.01 substitutions/site
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Rw



Br
Bo
Ca

Ma
Ri

RvhD4
100 100
98
5L Rw
T = 592
P =54 96 —— Co
L =108
66

Strict consensus (6)
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Strict consensus (15)
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= 0.01 substitutions/site
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— 0.05 substitutions/site
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Strict consensus (27)
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- (.05 substitutions/site
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62 Si
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= 0.01 substitutions/site
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